(Body Mass Index)

MEMNEEFEORR ( 5E) BE: cm( B BIEE
mE (mmHeg)
— 110 220
— 100 200
— O0 180
— 30 160
IIZI%HK&EIIK%T Y LT
— 70 140
—a
— G0 120p———
1=
=
— 50 100 g8
— 4.0 80
— 30 60
— 20 40
— (A 20
(kg)
elnal= 4 715 4
IRKBEHA 140 132
M
i-2E 70 68
17.N=2] Kg 49 51
BMI &8 IS4 - 3




IBEE BMI (Body Mass Index 1&1818£0 (B Tz DfE]

¥ BMI=#&FE (Kg) ~8& (m) ~8& (m) BMI=
BMI ¥E ——
185 F~2 5% D _
SEDIE P BEMXSE(mM) X22= Kg
FIBIHERDHXDOT
(%) (HixfZDiE)
IEBOED | S BIE DPF &) IRISIE=R %
Bt 15XK%®| 15~20XK® | 20~25XKHE |25MF
pog s 20Km | 20~25Kw 25~30XK@m | 30MLE

X IBREOEKIBHENMEBEBEDHDVIGBEULEDAR, FEFRECERDILDICHEICTZDIT,
BENEE) (BRREE), NSYADKINWESICMDAITE UKD,

.




